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N-Summe:
Scheitelabfluss:

Q Ereignisbeginn:

Ereignisdauer:
Abflussbeiwert:

N-Dauer:
max. N-intensitat:
mittl. N-intensitat:

Verzdgerungszeit:

Vorfeuchte:
Wetterlage:

34,75
23,30

1,56
146
27

19
2,97
1,83

12

niedrig
29

Niederschlagsverteilung

EZG Pegel Heimb

[]
GEWasser

o
_{N )

unker 27,50
27,5-25,0
28,0- 28,5
28,5-29,0
29,0-29,5
29,5-30,0
30,0- 30,5
30,5-31,0
31,0-31,5
31,5-32,0
32,0-32,5
32,5-33,0
33,0-33,5
33,5-34,0
34,0 - 34,5
34,5-35,0
35,0-35,5
39,5- 36,0
36,0 - 36,5
36,5- 37,0
dber 37,00

arn

mm

m3/s

m3/s
Std.
%

Std.
mm/h

mm/h

Std.



